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BRITECH A HE
WX ATERIXE B & &5 MHEX
IBfEX0 LT
1% BA (71EAR)
TR HET 25 29 54 32
5 A BT 18 28 46 28
KHET 56 57 113 68
L FrET 35 31 66 32
T HTHET 21 30 51 23
e HT 42 41 83 44
L =T 48 52 100 64
R oh/HT 121 111 232 119
th /HT 40 50 90 52
Farh /HT 111 100 211 126
R R HT 96 100 196 81
LR ET 111 94 205 117
ERmiTET 251 289 540 235
AE—TH 134 135 269 130
NEE=TH 36 57 93 53
NE=TH 71 83 154 74
NEMTE 93 91 184 114
NERETHE 68 82 150 83
SEAN= 80 96 176 102
RNEATEI 35 43 78 48
&/ — &7 37 36 73 40
fE/ —#T 57 68 125 67
fE./ BT 137 129 266 128
3R [E AT 225 227 452 209
75 ] ET 393 381 774 365
R AL ET 95 93 188 94
A e T 141 159 300 139
&+ EHT 161 147 308 116
A R BT 63 72 135 65
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HETBEXE B % B&F  MHEHK

BA R 358 341 699 339
FA R HET 94 117 211 110
AHETE 96 76 172 107
fE./ =HT 31 47 78 45
2DOLME 46 90 136 87
SEhE 533 512 1,045 453
[LZEHT 178 212 390 214
BERAHER/RKES 184 153 337 130
TR EE 4,321 4,459 8,780 4,333
R F0 (24B8%)
T HNET 10 16 26 13
Z =M 32 59 91 42
T EHT 42 51 93 43
il 62 66 128 69
SFHT 84 93 177 77
Y EmET 122 123 245 140
FIATHHET 576 531 1,107 545
BRAHT 47 48 95 56
[P N ) 178 155 333 194
FAANHT 80 95 175 96
L ARET— X 156 153 309 147
RHE 244 241 485 255
[ ¥ 159 160 319 168
L ARET X 200 222 422 223
T&E 317 346 663 299
mRE 148 156 304 155
[ERR 331 361 692 241
PE 116 116 232 114
[ i EHET 470 486 956 541
EI==Rs 506 493 999 528
BRFOETET 330 359 689 336
JERHET 268 271 539 223
tEE—K 212 256 468 237
tEE-K 299 271 570 282
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HETBEXE B % B&F  MHEHK

TRROEE 4989 5128 10,117 5,024
KIE (16B8%)
AR 70 77 147 65
HiE 54 57 111 56
= A 73 67 140 73
KA 554 498 1,052 546
PN 204 198 402 197
BFR 235 251 486 239
PN AT 125 109 234 109
LT 266 193 459 308
#EO 314 297 611 374
R 369 289 658 407
RharE 84 97 181 77
L\ A 344 369 713 349
E/INEy R 121 114 235 122
tihsyrE 179 187 366 156
FAYE 175 199 374 171
arhE 67 99 166 124
TR O &E 3,234 3,101 6,335 3,373
E=E (MBBR
T BmET 221 228 449 193
HITE 771 763 1,534 734
IRy B 88 156 244 128
RiEEEFHT 348 349 697 381
MEMNE 121 165 286 141
e 143 162 305 151
i EEFET 540 554 1,094 586
Fa £ E FPET 105 144 249 153
T ERETETE 869 821 1,690 810
TERETETR 372 342 714 380
*+ Bf = HT 385 392 777 419
TRROEE 3,963 4,076 8,039 4,076
E5 (BEAR
* 207 188 395 197
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HETBEXE B % B&F  MHEHK

AR 1,190 1,193 2,383 1,054
B 284 292 576 291
84 94 178 90
FH 132 150 282 117
R EFHT 285 269 554 268
ER{EMT 126 156 282 136
R L EPHT 133 153 286 130
THRROEE 2441 2,495 4,936 2,283
BA= CISP=E=
Kith 3R BT 335 350 685 288
iR AT 233 199 432 150
K ILIET 146 138 284 98
F EFHT 725 768 1,493 619
BEMNE 573 549 1,122 404
ITHROEE 2,012 2,004 4,016 1,559
= CISPRE=
Fhh 81 88 169 84
wmEF 163 192 355 187
ENA 17 25 42 23
L7 O 11 15 26 12
TBRROEE 272 320 592 306
RE3 CISh=E)
I 274 289 563 293
L 137 160 297 142
T ¥ 94 96 190 102
sk Sl 50 59 109 67
H 144 143 287 156
puk:ii 86 68 154 86
ZH 31 27 58 36
5 72 74 146 77
TBRRDOEE 888 916 1,804 959
2= (208A%)
ol 0| 355 339 694 397
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HETBEXE B % B&F  MHEHK

T 48 53 101 49
E=Fas 190 198 388 188
HETE 65 75 140 62
MAF 57 65 122 50
N 85 83 168 86
=331 159 166 325 147
LI 30 33 63 33
¥Ei1x 41 49 90 46
SR 161 182 343 160
+H 119 129 248 123
#HIE 282 282 564 283
B 100 84 184 111
IEBRSF 548 516 1,064 498
i3 35 43 78 39
= 38 35 73 39
SDOETE 38 38 76 43
MLDOKE 766 813 1,579 705
BT 181 171 352 164
FoAE)LX 107 98 205 84
TR EE 3,405 3,452 6,857 3,307
A CIShE=

TXRi#E 29 24 53 28
—E 11 10 21 10
EFN 14 15 29 14
RhfE 52 80 132 57
24 141 155 296 142
ax 18 24 42 24
BT 35 35 70 37
R 4 5 9 6
TBREOEF 304 348 652 318
2= (13BAR

ai5 51 48 99 52
il 82 88 170 97
us 15 23 38 14
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HETBEXE B % B&F  MHEHK

e 33 30 63 34
INK 32 33 65 35
TF 13 16 29 15
= 10 7 17 13
Bd 26 30 56 28
&k 38 45 83 42
HE 42 45 87 44
H4EIR 92 105 197 109
HAER 77 68 145 89
/8 310 290 600 208
THRREOEE 821 828 1,649 780
LRAED CISPE=
FR 114 122 236 116
+% 34 40 74 38
4% 30 33 63 34
Yzt 14 20 34 20
=& 126 143 269 134
it 44 55 99 52
=1 26 23 49 26
IE#%3F 9 17 26 14
= 4 7 11 5
ITEROEE 401 460 861 439
th7X A 8B CISPE=
SH 28 27 55 32
FRE{CH 29 34 63 30
Tith 59 60 119 70
it 29 26 55 32
BIEF 42 56 98 45
AALLMHA 32 33 65 30
15 38 37 75 38
OB 39 47 86 47
FHE7ILEA 36 37 73 34
TERREOEE 332 357 689 358
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HETBEXE B % B&F  MHEHK

Z&Rm 133 111 244 135
KHE®E 169 149 318 149
KA 80 84 164 88
ik /A 488 474 962 417
RHEE 745 769 1,514 672
mD& 384 377 761 359
=1 75 79 154 76
PN 54 124 138 262 146
B 352 BT 600 582 1,182 507
TR EE 2,798 2,763 5,561 2,549
Il= mEss)
Frit 217 206 423 196
SR 100 112 212 95
+= 18 15 33 17
NN 54 53 107 50
+=K 21 22 43 24
ERT R 21 21 42 24
T/NH 57 55 112 58
/NE 23 21 44 23
= 20 24 44 25
EFTXK 59 53 112 59
Xa 63 59 122 55
TBRROEE 653 641 1,294 626
kAN (78AE
HE A 84 86 170 90
B\a 45 42 87 47
=i 10 13 23 16
F#0 22 31 53 29
XER#H 13 16 29 17
RS EFHT 155 161 316 165
i 46 48 94 44
TBRREOEF 375 397 772 408
== CI=PE
—JB 80 70 150 83
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HETBEXE B % B&F  MHEHK

AE 20 18 38 18
= 8 8 16 7
BT 11 12 23 12
TEARR 23 24 47 24
hiER KR 5 11 16 11
LiEARK 32 34 66 43
% 17 18 35 18

THRROEE 196 195 391 216

Gl (6BB=

TH%E 19 16 35 23

YA 11 11 22 12

EEE 12 13 25 17

T8 23 33 56 39

KkE 24 31 55 36

RKEX 53 51 104 64
TRROEE 142 155 297 191

ElR (18B=s

ER 86 110 196 104

TR O &E 86 110 196 104
T (1BA=R)

T 689 241 930 925
ITEROEE 689 241 930 925
BThETOAET 32,322 32446 64,768 32,134

|B =FNHET
%R (6BAR

HRT— 114 103 217 116

ZRERTZ 43 48 91 59

IR 113 126 239 116

=Y 32 26 58 35

RiF 46 50 96 61

N 96 104 200 97
TR EE 444 457 901 484

MR CISPE
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HETBEXE B % B&F  MHEHK

FiEE VN 11 10 21 15
B/& 4 6 10 6
ekan 68 77 145 82
us 108 920 198 102
FR 269 241 510 348
FE 46 54 100 56
B 34 41 75 43
7 189 173 362 189
R 37 35 72 38
TR EE 766 727 1,493 879

ne (6BAR
PN 41 51 92 56
=] 41 46 87 49
& 62 56 118 68
[0 41 40 81 43
TH& 38 44 82 57
A 3 3 6 3
TRRDOEE 226 240 466 276
[BEHETD & & 1,436 1,424 2,860 1,639

IR R A EFHET

THRAE (17888
= 14 13 27 12
i AR 11 12 23 14
GERE] 13 14 27 17
2R 9 12 21 14
mE 13 17 30 17
EH 12 12 24 17
IV 6 7 13 11
il 71 70 141 66
#H 56 62 118 59
THET 51 63 114 55
LHT 36 46 82 40
B 23 30 53 22
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HETBEXE B % B&F  MHEHK

B 36 27 63 27
[] 88 101 189 102
EFE 26 25 51 26
PR 13 11 24 11
TFIR 39 42 81 43
THRROEE 517 564 1,081 553
HRALE GEAR
A& 78 63 141 85
X 35 38 73 40
=12 67 61 128 57
KHF 55 48 103 58
g 62 63 125 65
TRREROEE 297 273 570 305
ERAB (8BRS
F9iE 62 73 135 59
2l & 69 62 131 61
s 37 41 78 40
=8 0 1 1 1
KA 15 25 40 18
5 12 13 25 13
FaiE 25 25 50 22
=18 13 16 29 15
RE 12 8 20 10
Fa 12 15 27 17
FH 41 53 94 48
L HET 16 17 33 16
=% 16 11 27 16
PRI=] 19 22 41 23
HA&E 21 21 42 21
IR 11 7 18 10
=1 9 10 19 9
A& 1 1 2 2
T8 28 29 57 34
KE 16 22 38 21
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HETBEXE B % B&F  MHEHK

KR 36 42 78 31
ER AT 42 47 89 41
Bk 4 5 9 6
"RAE 6 5 11 6
THRROEE 523 571 1,094 540
B ETD & & 1,337 1,408 2,745 1,398
|B R THET
SA[SF BBEAR
L% 71 75 146 53
KE 37 45 82 36
£E 172 185 357 157
£5/ 29 27 56 27
TET 68 85 153 82
R 86 112 198 83
BK 44 53 97 46
T 39 42 81 42
TRRDOEE 546 624 1,170 526
JAlsF L (1088
Gilkdss 37 37 74 44
ER 10 10 20 12
FA 3 4 7 5
NE 23 33 56 32
—R— 30 37 67 40
R 28 32 60 31
Zg= 33 50 83 41
EEE 18 27 45 27
XHEMA 73 93 166 88
FES 6 5 11 8
TBREOEF 261 328 589 328
i) (4BB=R
e 58 68 126 66
/MR H 24 19 43 23
A % 3 4 7 3
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HETBEXE B % B&F  MHEHK

YNED 77 92 169 76
TR OEE 162 183 345 168
AR CIEP-ES
TR 24 25 49 27
=¥ 3m| 53 53 106 49
kR 34 36 70 31
AR 12 17 29 15
B2 24 31 55 29
£ H 14 16 30 18
izl 45 45 90 43
= 41 40 81 38
BEfMJ)—rel 98 88 186 75
TBRREOEE 345 351 696 325
AL CI=PeES
B 30 28 58 25
[ 36 37 73 41
= 39 43 82 39
[0 23 22 45 25
— 32 43 75 39
= 21 19 40 21
= 17 22 39 20
3t P 20 26 46 25
TBRROEE 218 240 458 235
AT CISP=E=
ot 49 45 94 43
“&ETF 45 51 96 47
MR 11 10 21 10
=5 29 42 71 37
=T 35 36 71 38
TBREOEF 169 184 353 175
IHTRTD & & 1,701 1,910 3,611 1,757
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weE 36,796 37,188 73,984 36,928
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